f
\¥7rp, 0

{

o)




25+ 3 =

37 + 2 =

42 + 4 =

7 + 60 =

33 +3 =

Addition: single digit and two-digit number

50 + 5=

2l +2 =

5+ 4] =

4+ |4 =

4 + 64 =

4+ 94 =




31 frogs in the pond ‘ -
3 hop . @a 23 children in the hall.
St 4 come in.

How many now?

Addition: single digit and two-digit number




40p + 10p = P |0p + 80p = p

50 + 10 = 10 +70 = 90 + 10 =

+10 +10
26 27 28 29 30 31 32 33 34 35 36 37 38 52 53 54 55 56 57 58 59 60 61 62 63 64

27 + 10 = 53 + 10 =

32+ 10 = 39+ 10 = 51 + 10 =

58 + 10 = 10 + 44 = 75+ 10 =

+ 10 = 89 + 10 = 67 10 + = 48

Add 10 Add 10

25 —|Add 10>— > >
63 —Add 10>— |Add 10 )>— Add 10>—




\ I+6=_ \‘\‘(\ 5 e, //’/
\\) 30+60=_ ) 50 + 30 = (4
) )

10 + 10 = 30 + 50 = oA ap 20r
30 + 20 = 20 + 40 = 30 + 30 =
50 + 40 = 40 + 40 = 70 + 20 =

Match to make IOO

MM \“_“ .\_,‘

f|o : w3o 40\ 50 /6 70\’80\ 90 ,,/
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52 + 20 =

28 + 40 =

35 + 50 =

40 + 47 =

64 + 30 =

50 + 46 =

34 + 30 =

71 + 20 =

30 + 52 =

29 + 70 =

45 +

65

52 62

72

28

19 + 60 =

33 + 60 =

50 + 23 =

14 +

Addition: two-digit number and multiple of 10

84

58 + 20 =

|6 + 80 =

62 + 30 =

37 +

77

PUPIL SHEET 24 CHECK-UP 9




[t 5= 3 =
‘\
|7 + 4 = 19 + 3 = 18 + 4 =
|6 + 5 = |15+ 6= |18 + 5 =
19 + 2 = |7 + 5= 19 + 4 =
S v

6 |7 18 19 20 21 22 23

7add 5 ) 17 +5 =

=
18 + 7 = 16 + 9 =

|15+ 8 = 12 + 9= 14 + 8 =

17 + 7 = 19 + 6 = 18 + 8 =

q+ |3 = 7+ 1= 9+ 15 =

19 + =27 |3+ =22 18 + = 24




69 + 3 = 4 + 58 = 76 +5 =

Addition: single digit and two-digit number, with bridging




Eiie20= 71 ']

51 + 21=

66 + 21

74e kel
39 + 21

50 + 50 = 100 | 50 + 51 =

Addition: adding 11, 21, 9, 19




| |

15 316 78
17 + 12
15+ 14
16 + |1

3] + 18 =

Il + 63 =

IS 500D 1Ripoe a8 24+ 25" 26 27 28 2910
|7 —add 10 dd7
s add 10 dddisi N
16 add 10 add |
24 + 14 = 33+ 16 =
74 + |5 = 18 + 71 =

Addition: teens number and two-digit number

HOME ACTIVITY 16




12 + 13 = 15+ 16

I5+ 14 = I+ 12

25 + 25 = 35 + 35

Colour two balls.

: £ Score 28)

HOME ACTIVITY 17

13 + 14 =

|16 + |5 =

45 + 45 =

. £Score 50.>

Addition: doubles



4+ 12+2=__

04 1+7=__

13+ 5+ =19

2 + + 20 = 28 + 14 +3 =20

Colour three to make 29.

Addition: adding three numbers




Colour

. and . to make 50

. and . to make 63
and to make 23

. and . to make 49.

Addition: using and applying ‘



sing and applying

Addition: u




30+ 7= 80 + 5 = 3+ 60 =

46 + 3 = 4 + 54 = 8l +6=

40 + = 46 32 + =39 65+ = 68

How many altogether?

Addition: assessment



14 | Find the total.
25

25 + 25 = 13+ 13 = 45 + 45 =
30 + 30 = |15+ 16 = 12+ 11 =

2+32+3= 5+22+ 1| =

31 + 3 + = 36 24 + + | =29
Colour three to make [00.

>\ =\
10 40|

Addition: assessment




v ASIIER 4142|4344 45|46]47]48]49]50 A\
| ' 51(52|53|54|55[56(57|58(59|60
61/62|63|64|65|66|67|68(69|70| &7
{ N |71|72|73|74|75|76|77|78|79|80 : )
) j’ T | et . ‘{ ;
5 & 5
16=3= Che )= 49 — 8 =
60 — 3 = 75 — 4 = Sqee 7=
36—~ Q8 — 4 = 275=
87 — 5 = 28 — 6 = Q4 — 4 =
68 take away 7 = 37 subtract 4 =
Take 9 from 80. Subtract 3 from 79.

Subtraction: single digit from two-digit number



88 -6 = 74 <)

o
on
I
w
I

|1

39-8 = 67 4 — 86 — 5

HOME ACTIVITY 18

Subtraction: single digit from two-digit number



Subtract 10p.

33p—10p = p 4lp—-10p = p

Take off 10p.

< - ~

40 - 10 = 54-10 = 100 - 10 =
66 — 10 = 5 -10 = 71 — 10 =
— 10 = 68 — 10 =80 36 — = 26

Subtraction: subtracting 10




q0“40: l | | L | ‘_

i | | | L | P
70 30 = 20 30 40 50 60 70
80 — 20 = 50 — 40 = Q0 — 50 =

- 8 -4 = 6—-5= ] 7-2= B
80 — 40 = 60 — 50 = 70 - 20 =

100 — 60 =
Make 30.
80 —

Subtraction: subtracting multiples of 10 ;




76 — 30 =

85 - 50 =

64 — 40 =

Subtract 20 from each

| ‘/m
46 56 66 76

| | l | é-
85

| | | | o

Colour the answer .

IL{12| 13|14 15]16] 17|18 19]20
212223 |24 |25|26|27]28] 23] 30
31 (32|33 |34|35|36|37|38]39] 40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
51| 52|53 |54|55|56 57|58/ 59/ 60

72 =50 = 84 — 70 = 93 — 60 =

79 — 40 = 99 — 50 = 67 — 50 =

88 — — 708 o =36 95 = 3
~50 =15 — 60 = 2| _ 40 = 18

CHECK-UP 12 HOME ACTIVITY 19

Subtraction: multiples of 10 from two-digit numbers



22123(24(25]26 §

22 -4 =

1
21 -2 = 23 — 4 = 22 -5=
I — 4§ = 2 -5 = 21 -3 =
27 _3 = 23 — 5 = 23 -6 =
\ 4
®© 0000 00000,
G @
5 <
? T 22 subtract 6.) 22e b=
25— 7 = 21 -8 = 26 -9 =
22-8= 25 -6 = 27 -8 =
2% - 6= 28 -9 = 21 -9 =
23-9= 26 -7 = 2% -8 =
\_ _/

Subtraction: single digit from two-digit number, bridging 20




21 -6 =

26 -8 =

21 -7 =

24 -7 =

23 -8 =

22 -7 =

23 -9 =

21 —

Sue has 22 balloons.

How many are left?

Sol has 26p.
He buys an apple.

How much has he left?

HOME ACTIVITY 20

Subtraction: single digit from two-digit number, bridging 20




| | | | | | l | ] | ] ] | ] |

28 29 30 31 32 33 34 35 36 37 38 39 40 4| 42 43 44 45

45 13 45 subtract 10 < subtract 3 .
73 |2 43 subtract |0 . subtract 24
loes 1 4t subtract IO4 subtract |
38-17 = 57 - 14 = 86 — |5 =
74— 13 = 49— 18 = 69 — 14 =
5q -13 Y ~13 ; S
38 —-12 ) —12 } -2
78 — = 62
99 — = 8|
subtract |4 subtract 16
35 — = 22
29 - =8

Subtraction: teens number from two-digit number




Complete.

subtract |3

24 >
65 >
86 >

53 ladybirds.
|2 hide.

How many are left?

subtract 15

a9 >
88 >
50 >

60 butterflies. ¢

|4 fly away.
How many are left?

S

I
N
w

56 —

I
IN
N

HOME ACTIVITY 21

(0 0)
~N
I
|1

72

N
0
I
[l

34

Subtraction: teens number from two-digit number




| ] | | l | | ] | | ] | l ] l 1 | |

27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44

Find the difference between

38 and 43 34 and 37 32 and 28

l | l l ] ] I | I ] | ] | l | | ] |

46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 61 62 63

Find the difference between

51 and 49 53 and 58 63 and 59
28 — 25 = 46 — 44 = 71 — 67 =
60 — 58 = 35 -3 = q] — 89 =
92 — 87 = 22 — 18 = Q9 — 96 =

Who has more? Who has more?

How much more? How many more?

Subtraction: small differences by counting on CHECK-UP 13 [l HOME ACTIVITY 22




57 - 10 =

57 - ||

Take away I 1.

iy by
-1 !:t;ﬁilﬂdquf St

1‘ -
o “'.'\

‘x\o

Subtraction: subtracting | I, 21, 9, 19



How much do I have left?

Addition and subtraction: using and applying




o TR

:'—-—-.--—-u-0

~1 0

r -
= T ove.
o
%4

Complete.

ﬁ ﬁ upstairs ﬁ altogether
23

30 64
| 4 56

Addition and subtraction: using and applying



77 =2 86 — 4

64 75 82

45 — 3 50 — 6 69 — 5
70 — 10 = 64 — 10 = 93— 10 =
57 — =47 76— = 66 _10=25 &
60 — 20 = 90 — 40 = 50 — 30 =
84 — 30 = 71 =50 = Q9 — 60 =
53 — =33 77- = 37 —70 =15
2 — 4 = 23 -5 = 22 -3 =

Take 7 from 24. Subtract 6 from 25.




% - 13 = 66 — |15 = 79-16 =

57 -17 = 85-12= 60 — 14 =

N
(00)
[
[

35 36 - =21

i,_‘”..-.,-x., 55 in the pool.
o |2 get out.

% xx How many are left?
@ 2. @
c%‘!?izz_v =

E Find the difference between

48 and 53 92 and 89.
n subtract 9 subtract ||
57 > 83 >
46 > q7 —»>
33—-19= 56 - 21 = 69-21 =

Subtract 19 from 100.

Subtraction: assessment




80 + 10 =
800 + 100 =

300 + 300 =
500 + 200 =

7—-4=
70 — 40 =
700 — 400 =

200 + 2 =

3+2=

30 + 20 =
300 + 200 =

100 + 700 =
400 + 600 =

8-2=
80 — 20 =

800 — 200 =

onn L
J-\‘]Mj -+ |

Addition and subtraction: hundreds




